PhL 7

Nakretha M6, Nut
Podkt: sprez. 6,2, Spring Washer
Podkt. okr. pow. 6,4, Plain Washer

Sruba M10x100-8.8, Bolt
Podkt: sprez. 10,2 Spring Washer
Podkt. okr. pow. 70,5, Plain Washer

Sruba M12x25-8.8, Bolt
Podhkt sprez. 12,2, Spring Washer
Podkt okr. 13, Plain Washer

Sruba M 6x20-8.8, Bolt
Podkt. okr. pow. 6,4, Plain Washer

PRE T P2 Pt 3

Nr katalogowy

A077
B

Marka

Audi A4 Quattro Sedan od 71/00-1/07
Auadi A4 Avant Quattro od 06/07-03/08

® /MIOLA

HAKPOL

Podki okr. 13, Plain Washer

/ )
Nakretha M10, Nut
Podkt: sprez. 10,2 Spring Washer
Poakt. okr. pow. 10,8, Plain Washer

|

96-111 Kowiesy, Chojnata 23 A
tel. +48 46 831 73 31



	Sheet1
	Widok rysunku10


